6 th

Math 120 KAUST Worksheet 1 September%, 2018

Name:

Answer the questions in the spaces provided. Don’t hesitate to ask me or your peers for
help, this is not a quiz.

1. Working with lines.

What is the area of the triangle determined by y = —1z+5, y = 62 and the y-axis. (First graph the lines

in a coordinate plane and shade the triangle you are studying. It may be useful to find the intersection
points of the lines).
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2. Paraphetrics

JuMet and Mercutio afe moving at constant speeds fh the xy-plane. They staft moving at the sapie
tifne. Juliet starts at/the point (0, —6) and heads ipf a straight line toward thé point (10,5), reachipg it
n 10 seconds. Merdutio starts at (9,14) and moyés in a straight line. Mer. tio passes through the/same
point on the z-axis as Juliet, but 2 seconds afjér she does. How long do#s it take Mercutio to ach the
y-axis? Write # function d(t) that measures tHeir distance apart after { seconds.
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3. Functions Recall that |z| represents the absolute value of .
(a) Sketch a graph of the function ¥ = |z| and write its multipart rule.

(b) In the same axis as above, sketch the like y = —%m + 3. Notice that the two curves intersect at two
points. What are the coordinates of these two points?
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(c) If f(z) =22 -2, sketch a graph of y = | f(z)|.

(d) Write a multi-part ruje for | f(z)|.
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4. Moving stuff around.

The graph of the function y = 22 looks as follows.
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Sketch the graphs of y = f(z +2), y = f(z) + 2, y = f(2z), y = 2f(z).
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